Quadratics: Practice Test 
Multiple Choice:  

___1.  What is  
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when written in the standard form

               a. 
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___2.  Which of the following has an axis of symmetry given by the equation  
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___3.  Given 
[image: image11.wmf](

)

6

2

5

2

-

+

-

=

x

y

 what is the vertex:       a. (5,6)            b. (5,-6)         c. (-5,-6)        d. (-5,6)

___4.  A toy rocket is launched into the air,
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, h is in metres, t is in seconds. What is the maximum height 
       a.  8m              b. 800m                 c.  525m                d. 393m

___5.  Given 
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,  what is the y-intercept:        a.  8        b.  –12         c.  4               d. 2

___6.  What is the range of   
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___7. If the graph of 
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is sketched, which of the following is not a possible value of y on the graph?

                a.  -3


b.  –2


c.   2


d.  1

___8.  The path of a projectile is given by the equation 
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 where h is height in meters and t is time in 
                seconds.  How long will it take the projectile to reach its maximum  height?
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             a. 3sec    b. 7sec       c. –28sec   d. 28sec

___9. Which of the following equations best describes the graph ?      

a.     y = 3(x-1)2- 4          c. y = 2(x-1)2- 4

b.  y = 4(x-1)2- 4          d. y = 0.5(x-1)2-4

_____10. A quadratic function has a vertex at (3, -6) and a y- intercept at -8,  How many x-intercepts will the parabola have?

a.  0            b.  1            c.  2     d.  cannot determine       

_____11. What is/are the root(s) of the quadratic function 
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                   a. 8 and -12    b.  -2 and -28     c.  No roots     d. 2 and -3
_____12.  Determine the roots of the quadratic equation 
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_____13.  Solve (3x+7)(x+13)(x-8)=0:  a.  
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_____14.  A Bald Eagle swoops down toward an unsuspecting deer  in a parabolic flight path in an attempt to  scare the deer 
                 away from it’s nesting area.  The height of the eagle above the deer in metres after t seconds is given by                             
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  ,  when will the eagle be 3m above the deer
               a.   1.8 and 3.2             b.  6.1                     c.  2 and 3 seconds                 d.    no solutions 
_____15.   Describe the nature of the roots:
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  a.  no real roots    b. 1 real root    c. 2 real roots  d. cannot determine 

_____16.  The path of a stunt pilot’s dive at an air show is given by 
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where d is the distance in  metres 
                 above the ground and t is the time in seconds.  How high above the ground is the diver when he begins to dive. 

                 a.  28m                  

b. 260m          

c.  130m          

d.  18m
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_____17.  A quadratic equation  has a discriminant of 0.  Which could be a graph of the function

a.                                           b.                                       c.                                          d. 

PART B SHOW YOU WORK

1.  Given the following quadratic function:
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a.  Determine the coordinates of the vertex of this parabola, the axis of symmetry , y-intercept and the range.

b.  Does the function have a max or min.  What is the max or min?
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2.  Determine the equation of the quadratic        

3.    When a certain drug is taken into the body the concentration of the drug in the patients bloodstream  after t minutes is 
       given by:  
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 , where C is the concentration of the drug micrograms/Land t is time in minutes.  

a. What is the maximum concentration of the drug in the bloodstream ? When does the maximum occur?

b. What is the concentration of the drug after 2 hours (120minutes)?
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4.  A tunnel through a mountain has a width of 36 feet  and a height of  20 feet at its centre.  

a.  Write an equation to model the arch tunnel

b. If a 6 foot man is standing 8 feet from the centre of the tunnel, 

how high above his head is the tunnel?
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5.  The diagram to the right shows the area of a lake that is to be roped off for 
      race swimming races so each racer gets their own racing lane.  There are 6 lanes
      that are to be roped off  with 5600 m of rope according to the diagram.  Rope is
      not needed for the shoreline, what dimesions will maximize the racing area?  

6.  It was reported that a high end fashion boutique sold 86 designer purses last month at a price of $170 each.  They want to
     increase their profits and have determined that for every $10 increase in price they will sell 2 less purses.  What price will 
     maximize the profits for the boutique?

1.                7.  Factor:         a.  
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8.   Given  8x2 –11 = 5x – 4x2 – 9     , find the roots of the equation by   a) using the quadratic formula  b) factoring                                       
9.  Find the x-intercepts of the quadratic function   y = 4x2 – 18x + 9. Express your answers as exact values.

   10.  The surface area A of a closed cylinder of radius r is approximately modelled by the relation 
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           a.  What is the area when the radius is 8 cm?  

           b.  What is the radius of the cylinder if the surface area is 1253.05 cm2?
11. Batgirl projects herself off a bridge over a river by using a portable rocket launcher,  Her height above the water

                             in feet after t seconds is given by:   h(t) = –6t2 + 84t + 41.3.  

a.   How high is the bridge?

b.   After how many seconds does she hit the water?

c.  What is her maximum height above the water?   How long does it take for Batgirl to reach her maximum height?
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e. When is her height above the ground  80 ft? 

f.  Make a sketch of the path of Batgirl.
12.   A rectangle has dimensions (5x-2) and  (2x+3), where x is in centimetres.  If the area of 
                 the rectangle is 117 cm2, what are the dimensions of the rectangle?

13.  Set up and solve using quadratic equations. 
a. The product of two consecutive integers is 5 more than three times the larger.  Find the integers.

b. The longer leg of a right triangle is 9 less than three times the shorter leg, the hypotenuse is 1 more than two times the shorter leg.  Find the length of the shorter leg.

c. The sum of the squares of three consecutive numbers is equal to 60 times the smallest number plus 5, what are the numbers?
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